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Consider the following price 
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, i =1, 2, 3.
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	1
	3.6
	1.3
	6.01
	535
	65
	264

	2
	4.8
	1.56
	8.19
	496
	45
	231

	3
	5.29
	1.43
	6.42
	415
	54
	148

	4
	5.37
	1.77
	6.58
	506
	62
	270

	5
	7.4
	1.99
	6.52
	632
	64
	284

	6
	8.1
	2.49
	8.87
	411
	50
	277

	7
	9.57
	1.96
	5.75
	653
	58
	280

	8
	10.56
	2.12
	8.07
	427
	40
	268

	9
	10.67
	2.12
	7.2
	416
	55
	269

	10
	12.88
	2.4
	6.84
	624
	60
	150


1. What is the price index of 
[image: image10.wmf]1

X

for the sixth period, with the first period as the base period?

A) 4.5%

B) 2.25%

C) 225%

D) 45%

2. How much did the price of 
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increase from the sixth period to the seventh period?

A) 15.4%

B) 18.1%

C) 16.6%

D) 17.4%

3. Using an unweighted aggregate price index with period 1 as the base period, how much more expensive were these three goods in period 3 than in period 2?

A) 5% more expensive

B) 6% more expensive

C) 7% more expensive

D) 8% more expensive

4. Using Laspeyres price index with period 1 as the base period, how much more expensive were these three goods in period 3?
A) 28.4% more expensive

B) 26.6% more expensive

C) 24.2% more expensive

D) 29.80% more expensive

5. Suppose that we calculate the four-period moving average of the following time series

	t
	1
	2
	3
	4
	5
	6
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	16
	28
	21
	15
	26
	12



The centered moving average for period 3 is:

a. 22.5

b. 21.25

c. 20.50

d. 18.5

6. Which of the following is true?
a. In trend analysis, the independent variable is time only if the equation is linear.

b. The number of time periods in centered moving average is always even.

c. If the seasonal index for December sales is 120, this means that December sales tend to be 120% as high as the “average” month.

d. The cyclical component of a time series refers to repeating patterns that have a period of a year or less.

7. Which of the following statements is true?      
a. the overall multiple regression model explains a significant portion of the variation in highway mileage when tested at a significance level of 0.05

b. only the two independent variables are statistically significant in the presence of the others when a significance level of 0.05 is used to test

c. the standard error of the estimate is a negative value due to the multicollinearity problems in the model

d. none of the above is true

8. In multiple regression, the __________ procedure permits variables to enter and leave the model at different stages of its development.

a. forward selection

b. residual analysis

c. backward elimination

d. stepwise regression
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Consider the following plot of quarterly time series data.  This plot appears to display all of the components of a time series except which one?

A) Trend component 

B) Cyclical component

C) Seasonal component

D) Irregular component

10. Which of the following is not an advantage of exponential smoothing?

a) It enables us to perform one-period ahead forecasting.

b) It enables us to perform more than one-period ahead forecasting. 

c) It enables us to smooth out seasonal components.

d) It enables us to smooth out cyclical components.

11. After estimating a trend model for annual time-series data, you obtain the following residual plot against time, the problem with your model is that

A) the cyclical component has not been accounted for. 

B) the seasonal component has not been accounted for.

C) the trend component has not been accounted for.

D) the irregular component has not been accounted for.
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12. Microsoft Excel was used to obtain the following quadratic trend equation:

Sales = 100 – 10X + 15X2.

The data used was from 1989 through 1998, coded 0 to 9. The forecast for 1999 is __________.

13. The manager of a company believed that her company's profits were following an exponential trend. She used Microsoft Excel to obtain a prediction equation for the logarithm (base 10) of profits:


log10(Profits) = 2 + 0.3X
The data she used were from 1993 through 1998, coded 0 to 5. The forecast for 1999 profits is __________.

14. A second-order autoregressive model for average mortgage rate is:


Ratei = – 2.0 + 1.8(Rate)i-1 – 0.5 (Rate)i-2.

If the average mortgage rate in 1998 was 7.0, and in 1997 was 6.4, the forecast for 1999 is __________.
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